afaerTa fRafags

T 7TaT & foh oiTuch gIRT St fohdT AT vnstat ol G&hUT —u GREHIER ol g T8 hedl g1 IfT vnstat @l
PR e 3R Sefagy AR 000 T 370 = & el IR0T & AT AW Jed g

TROT 1: vnstat R RITRIIR R
3T Aeddh %Y & T vnstat &l 3AfRITersst #::
sudo vnstat -i ethO

reEr:

gg HHTS vnstat ¢l I SUANT hich eth0 Aedch 5¢Thd oh Acadh ¢ftheh ST ohl UGIRTd T &1 sudo T ITTNT hch
Ig TS Te I1 TsfAfAetex Mifdest & ary gars STt 81 -1 etho TR a8 AT &Rar & fh etho Sextha & forg g1
fezamar wiTg )

TIOT 2: 3T HUE o forg wehtar &3
vnstat &l ST Uhd e o fIT Iug &Y SMaTehdT gid! &1 I99-T9g R AT F 5 e

sudo vnstat -1

(I8 HiE Acadh ¢fthar ot Raer-ersA | AlfAeR & & folg IuT &l Sireht 81 58 &t A Srare e i smasaehar gl
2 i ug Uer fifet dvie 21)

FO 991G, ST HUGUT hl ST e

sudo vnstat -d

(Tg s fodt & srgare T8t fohar Qe wRifeh a8 e efiel S & 3R 38 HeT w9 # &t g1 =16 q|)
wRoT 3: defagy 2e1 F gawule & & A gas 000 a9

00000 ST &R

pip install Flask

Yah 000000 f8Fw (bandwidth_api . py) SFTG:



from flask import Flask, jsonify
from flask_cors import CORS

import subprocess

app = Flask(__name__)
CORS(app) # CORS

Q@app.route('/bandwidth', methods=['GET'])

def get_bandwidth():

# ethO 5- unstat
result = subprocess.run(['vnstat', '-i', 'ethO', '-5', '--json'], capture_output=True, text=True)
data = result.stdout
# JSON
return jsonify(data)
if __name__ == '__main_ _':
app.run(host='0.0.0.0"', port=5000)
Ig g 000000 & Ueh 00000 Ufeeiche™ opt o™ & fow Iuiivr fopar Siram €1 if __name . == ' _main__ ':

g gFfga oear & for fEpe &l Wd e o @1, 7 fh fhelt o= dAfege & w0 # s fovan mam gl
app.run(host='0.0.0.0', port=5000) Ufiche™ @t ¥t Iuetey 00 TSH (0.0.0.0) W R TIE 5000 R
TATdT 81

“T7sh

python bandwidth_api.py

TROT 4: 37U AN & AT Gehlepd &
fAmfef@a 0000 ik 0000000000 <1 IUTNT ehch SefagY ST &l U e 3R Uafia e

document .addEventListener ('DOMContentLoaded', function () {
fetch('https://www.lzwjava.xyz/bandwidth')
.then(response => response.json())
.then(data => {

var bandwidthData = JSON.parse(data);



//

var timesContainer = document.createElement('div');

var currentUtcTime = new Date();

var currentLocalTime = new Date(currentUtcTime.getTime());

var pUtcTime = document.createElement('p');
pUtcTime. textContent = “UTC Time: ${currentUtcTime.toUTCString()}";

timesContainer.appendChild (pUtcTime) ;

var pLocalTime = document.createElement('p');
pLocalTime.textContent = ~ : ${currentLocalTime.toString()}";

timesContainer.appendChild(pLocalTime) ;

//

document . getElementById('status') .appendChild(timesContainer) ;

//

var table = document.createElement('table');
table.border = '1';
table.style.borderCollapse = 'collapse';

table.style.width = '100%';

//

var thead = document.createElement('thead');

var tr = document.createElement('tr');

var headers = [' ', ' (KB/s)', ' '1;

headers.forEach(headerText => {
var th = document.createElement('th');
th.textContent = headerText;
tr.appendChild(th);

H;

thead.appendChild(tr) ;

table.appendChild(thead) ;

//

var tbody = document.createElement('tbody"') ;



//
var fiveMinuteData = bandwidthData.interfaces[0].traffic.fiveminute.reverse();
fiveMinuteData.forEach(interval => {

var tr = document.createElement('tr');

var dataTime = new Date(Date.UTC(interval.date.year, interval.date.month - 1, interval.date.day, interv

var timeDifference = Math.round((currentUtcTime - dataTime) / (1000 * 60)); //

var tdTimeDifference = document.createElement('td');
tdTimeDifference.textContent = timeDifference + ' mins ago';

tr.appendChild(tdTimeDifference) ;

var averageTraffic = (interval.rx + interval.tx) / 2; // RX TX

var tdTrafficKBs = document.createElement('td');

var trafficKBs = (averageTraffic / (5 * 60 * 1024)).toFixed(2); // KB/s
tdTrafficKBs.textContent = trafficKBs;

tr.appendChild (tdTrafficKBs) ;

var tdStatus = document.createElement('td');
tdStatus.textContent = trafficKBs > 5 7 'Online' : 'Offline’';
tdStatus.className = trafficKBs > 5 7 'status-online' : 'status-offline';

tr.appendChild(tdStatus) ;

tbody . appendChild(tr) ;
1
table.appendChild (tbody) ;

Ve

document . getElementById('status') .appendChild(table);
b

.catch(error => {

console.error (' , error);

3

http://your-droplet-ip:5000/bandwidth @t 370= 0000000 & 00 Ud & & |

4
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